REBXFOELUE bigAOOS-(1)

HOBRRETN—IDBERESL—ZVT

19+2= 113+ 5H=

2l 90+ 4= sl 44+ 1=

3114 3= 9| 142 =

4119+ 5= 1014+ 1=

5 2+ 2= 1 542=

6] 2+4= 214+ 5=
RET: Qi



REBXFOELUE bigAO05-(2)

1142= 719492 =
2|2+ 4= 3| 3+ 2=
3/ 4+ 3= 9|9+ 5=
4] 3+ 3= 05+1=
514+ 1= 144+3=
6/ 5+5= 224 1=
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REBXNFOELUE bigAO05-(3)

1 444= 11342 =
2 44 2= 8 3+ 3=
3 14+1= 054 1=
4114+ 9= 100 4 4 2 =
5 3+ 9= M3+ 1=
6| 9+4= 2142 =

MOBRREDN—IDBERESL—ZVT



REBNFDEUE 2)|=> 11142= 3 1124+2= 4
PIEADDS 212+4=6 [3+2=5
[ R ] 344+3=7 [012+5=7
41/3+3=6 [105+1=6

(1) = 5/ 14+1=2 [11443=7
} | 69+5=10 [1Z2+1=3
1154+2=17 713+5=8 | [1/144+4= 8 113+2= 5
21 5+4=9 s/4+1=5|244+2= 06 8/ 3+3= 6
3 14+3= 4 9/1+2=3 | B]1+1= 2 9/5+1= 6
£ 95+5=10 [0W1+1=2 | 414+5=6 [044+2=06
5/2+2=4 [1d5+2=7 | 513+5=8 [13+1=4
6/2+4=6 [214+5=6|654+4=9 [121+2=3
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